
MegaGoal Book 2.1 Unit 3: Far and Away 

VOCABULARY 

Complete each sentence with a word from the box. 

1. There has been a decrease in the amount of green space in the city because of ____________________

development.

2. Too many tourists can harm the rainforest’s natural ____________________.

3. That treetop hotel is totally ____________________. There is not another hotel like it.

4. Ecotourism is an ____________________ to traditional tourism.

5. The goal of ecotourism is to experience nature while leaving it ____________________.

6. The underwater hotel is located six meters below the ____________________.

7. Hotels in this city are ____________________ inexpensive. They cost a lot more in other large cities.

8. Ecotourism is important to ____________________ development in Brazil.

FORM, MEANING AND FUNCTION 

Choose the best answer to fill in the blank in each question. 

9. Mom: ____ are you going to travel?

Ali: We are going to go by train.

A. When

B. Why

C. How long

D. How

10. Mom: Where are you staying?

Ali:_______  stay at a hotel in the central square. I have to call and make a room reservation.

A. We are going to

B. Maybe we’ll

C. Probably we won’t

D. We are



GRAMMAR 

 

Choose the sentence that has the same meaning as the underlined sentence in each question.  

 

11. Traveler: I’d like to book a hotel room for the night. 

    Clerk: Unfortunately, we do not have any rooms available tonight. 

A. We’re very happy that you are staying with us at the Fairmont Hotel. 

B. It is lucky that we do not have a hotel room for you. 

C. We’re sorry, but we do not have a hotel room for you. 

D. It is obvious that we have many rooms for you. 

 

12. John: Where are you going on vacation? 

     Sam: Presumably, we’ll go to the beach. 

A. It is most likely that we’ll go to the beach. 

B. It is unlikely that we’ll go to the beach. 

C. It is possible that we’ll go to the beach. 

D. We never go to the beach. 

 

13. Adel: Where is our taxi? I called for it over an hour ago. 

      Liam: Evidently, it is not coming. Let’s walk home. 

A. It is unlucky that the taxi is not here yet. 

B. It is clear that the taxi is not going to come. 

C. It is surprising that the taxi is not here yet. 

D. The taxi might not come. 

 

14. Jack: I can’t believe this hotel costs $300 a night! 

      Ray: It is undoubtedly the most expensive hotel in town. 

A. It is unlucky that we are paying a lot of money for this hotel. 

B. It is surprising that we are paying a lot of money for this hotel. 

C. I think it might be the most expensive hotel. 

D. I am completely sure that it is the most expensive hotel. 

 

Choose the sentence that has the same meaning as the statement in each question.  

 

15. Whew! We nearly missed our flight! 

A. It is clear that we are going to miss our flight. 

B. I’m glad we didn’t miss our flight! 

C. It’s too bad we missed our flight. 

D. I can’t believe our flight left without us! 

 

 

16. The northern part of the country is scarcely populated. 

A. Not many people live in the northern part of the country. 

B. More and more people are going to live in the northern part of the country. 

C. The northern part of the country is very crowded with people. 

D. People only live in the northern part of the country in summer. 

 

 

17. This hotel room is rather small. 

A. This hotel room is too big for us. 

B. This hotel room is extremely large. 

C. This hotel room is very small. 

D. This hotel room is a little bit small. 



READING  

 

Read the text and answer the questions. Choose the best answer to each question.  

 

A Unique Hotel 

There is a unique hotel that is located in Ottensheim, Austria, on the banks of the Danube River. It is called the Dasparkhotel. This 

hotel was created for travelers on a low budget. Travelers who stay at the Dasparkhotel are not looking for luxury and convenience. 

They are just looking for an interesting and inexpensive place to spend the night. 

The hotel has three “suites.” What is unique about the suites is that they are actually old sewer pipes. Naturally, the sewer pipes have 
been completely cleaned. Each pipe has also been furnished with a bed, a light, an electrical outlet, and a window. The pipes are 6 

feet (2 meters) across and 8 feet (2.5 meters) long. 

However, there are no toilets or showers at the Dasparkhotel. Guests must use public showers and restrooms in town. The sewer 

pipes are located in a park, and they are available from spring through autumn. Interestingly, there is no set nightly fee at the 

Dasparkhotel. It was created for people who travel on a budget, and guests may decide what they want to pay for their night's 

accommodations. How much money do you think you would pay to spend the night in an old sewer pipe? 

 

18. The Dasparkhotel is located in _____. 

A. Germany 

B. Austria 
C. Hungary 

D. Slovakia 

 

19. The hotel has _____ “suites.” 

A. three 

B. six 

C. eight 

D. twelve 

 

20. The hotel is unique because _____. 

A. it is located in a park 
B. it is not very expensive 

C. it is located near sewer pipes 

D. the rooms are in old sewer pipes 

 

21. The Dasparkhotel does not have _____. 

A. lights 

B. beds 

C. electricity 

D. toilets 

 

22. Which sentence is true? 

A. The hotel charges each guest the same fee. 
B. There is a rather expensive fee to stay at the hotel. 

C. There is no set fee to stay at the hotel. 

D. There is a very small fee to stay at the hotel. 

 

 

 

 

LISTENING 

 

Listen to the text and answer the questions. Write T or F at the end of each question/ statement.  

 

23. Stacy wanted to visit a country with a lot of development.  

24. Stacy and her husband were really happy about their visit to the wildlife refuge.  

25. Stacy and her husband snacked on termites. 

26. Stacy thought that the leaf-cutter ants tasted nutty.  

27. Stacy stayed in hotels that used renewable sources of energy and cultivated their own fruit and vegetables.  

28. Ecotourism is beneficial for the countries but not the tourists.  


